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QUESTION 1

Scenario: Client connections to certain virtual servers are abnormally high. A Citrix Administrator needs to be alerted
whenever the connections pass a certain threshold.

How can the administrator use NetScaler Management and Analytics System (MAS) to accomplish this requirement?
A. Configure SMTP Reporting on the NetScaler MAS by adding the threshold and email address.

B. Configure TCP Insight on the NetScaler MAS.

C. Configure Network Reporting on the NetScaler MAS by setting the threshold and email address.

D. Configure specific alerts for virtual servers using NetScaler MAS.

Correct Answer: C

QUESTION 2

Scenario: A Citrix Administrator manages an environment that has a NetScaler high availability (HA) pair running on two
MPX appliances. The administrator notices that the state of the Secondary NetScaler is "Unknown\\' and moves the
Secondary NetScaler to a new switch as a result. Also, the administrator captured a packet trace on both NetScalers.
Both sent traffic on secure port 3009 and were routing back and forth to each other.

What is causing the Secondary state to be “Unknown\\'?

A. The firewall is blocking communication between the switches.

B. The administrator made both NetScalers Primary.

C. The Secondary NetScaler CANNOT communicate in HA when moved to a new switch.

D. The remote procedure call (RPC) nodes are NOT configured correctly.

Correct Answer: A

QUESTION 3

Scenario: User authentication is failing through the NetScaler. A Citrix Administrator checked the Authentication,
Authorization and Auditing (AAA) policy, action and virtual server and verified that the correct configuration was in place.
The administrator bypassed the NetScaler and the authentication worked.

Which NetScaler utility can the administrator use to troubleshoot the access issue?

A. aaad.debug

B. Dashboard

C. nscon message
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D. nslog file

Correct Answer: A

QUESTION 4

A Citrix Administrator complains that between the two rewrite policies bound to the vserver, only one policy, whichever
has lower priority, works. The other policy is never used.

Click the "Exhibit" button to view the screenshot of the relevant policy binding.

B\ Exhibit Window
Load Balancing Virtual Server Rewrite Policy Binding
| "o Add Bigding tiribind o Regenerate Pionities ! Bind NOPOLICY-REWRIFE: | w1 | Eht o0 o
=] Priority Policy Name Expression Action Goto Expression Invake
& 100 RP_‘temoye. siv: header HTTPREQIS VALY Replace 'Hast, header END
i i g chtiak:,pol trug W nozchunk END
i Close

What is the cause of the issue?

A. GotoExpression value for Policy RP_remove_srv_header is configured as "END\\'.

B. The Invoke label is NOT configured.

C. The Policy expression of the no_chunk_pol is “true\\' and "NOT HTTP.REQ.IS_VALID\\".
D. The Priority of the no_chunk_pol is a higher numeric value than 100.

Correct Answer: C

QUESTION 5

Which qualifier is used to configure the Content filter action to modify the HTTP header of an HTTP Request?
A. Error Code

B. Add

C. Forward

D. Corrupt

Correct Answer: D
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